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Paper I
qyurent 1

Time Allowed : 60 Minutes]

Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

AT @ A1 YIAUThd U= (50) Sgfas 997 foiel ST yoish YeArell & (2) T 3R
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[Maximum Marks : 100

Tl yEe gred.
1. A report regarding certain | 1. TwH THHFEAE TEAT@ Y2 feara
examination is given below : TR -
Total number of candidates )
appeared = 1000 TSI et TR IR = 1000
The number of male &Y SHSAR = 550
candidates = 550 Y et 3HSAR = 700
The number of candidates T S W Ty e
passed = 700 .
The number of successful male A AR ST
candidates will lie between the (A) 100 d 250
R:r)ntioogm) ......... . (B) 250 d 550
to
(B) 250 to 550 (C) 550 @ 700
(C) 550 to 700 (D) 700 4 1000
(D) 700 to 1000 g
Direction : 9 shllleh 2 ATMUT 3 ¥ YT Wifediax
Question numbers 2 and 3 TR omRd
are based on the following - ’
information : T | S Aew | gew e (T
State | Total number| Ratio of | Percentage T S eRERieT | et tent
of male & |numberof| of post- Arerrarien i e
female males to | graduate - N =
employees that of |among total
female employees VS
employees A 20,000 13:7 60
A 20,000 13:7 60 B 30’000 8:7 50
B 30,000 8:7 50 C 95.000 5.5 64
C 25,000 5:5 64 ’ ’
D 40,000 14:6 79 D 40,000 14:6 72
E 10,000 6:4 42 E 10,000 6:4 42

[P.T.O.



Find the number of male employees
in state D :

(A) 14,000
(B) 6,000
(C) 28,000
(D) 20,000

Find the number of post-graduate
female employees in state B :

(A) 8,000
(B) 15,000
(C) 350

(D) 17,000

Direction :

Question numbers 4 and 5
are based on the following pie-
diagram :

D

: Printing cost

: Cost of paper

: Royalty

: Advertisement charges
: Other charges

HOwm

2.
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D I TIdA &Y AhERE! &l
hlel ¢
(A) 14,000
(B) 6,000
(C) 28,000
(D) 20,000
TG Tl AR B Teameiel &
<hlel @
(A) 8,000
(B) 15,000
(C) 350
(D) 7,000

g

UyT wUTH 4 TUT 5 T g
G- MFdlal MLqTRA 3 -




If the cost of paper is Rs. 16,000,
then find the amount of other

charges :

(A) Rs. 16,000
(B) Rs. 10,000
(C) Rs. 8,000
(D) Rs. 12,000

The tax deducted at source is 10%
of the royalty amount then the

amount of tax paid is ............... .
(A) Rs. 1,200

(B) Rs. 800

(C) Rs. 1,000

(D) Rs. 8,000

Which of the following is the correct
full form of IPTV ?

(A) International and Political

Television

(B) Internet Proliferation

Television
(C) Inter Provisional Television

(D) Internet Protocol Television
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SR HIRMET @9 16,000 & A, W

I TEEl WHH FE
(A) 16,000 %.
(B) 10,000 %.
(C) 8,000 %.

(D) 12,000 %.

HEAGATAT ThHAX 10% T hT shidedm™d

(A) 1,200 %.
(B) 800 =.
(C) 1,000 =.

(D) 8,000 %.

IPTV 3 Y= Iy 3edier fasr

qEIcTushl IO ?

N o~ o~

(A) TIHIAA e difdfewa Afafesm

(B) Setie wifamiye fefegsH

(C) TR Wifegsa faAfegsm

(D) $eTe Urmehia fdfes

[P.T.O.



The world’s first computer, ENIAC

was developed in the year :
(A) 1945
(B) 1940
(C) 1955
(D) 1960

Which communication service has

been recently closed in India ?
(A) Postal service

(B) Landline

(C) Telegram

(D) Fax

For recruitment as a school teacher
in Maharashtra one must enroll

himself/herself on the web portal :
(A) Saral

(B) Maha Jobs

(C) e-Seva

(D) Pavitra
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STl Ifeet Soresh (Wfames) = ot

o o

[AenAd opVdla AHlell @

(A) 1945

(B) 1940

(C) 1955

(D) 1960

TRATT JEIeTdeh! IV HaTg Hal Jehd 4

¢ OIS ?
(A) Zared Gl

(B) gt (ieam)
(C) R

(D)

weRrsgra ¥t ®wUA e & w
shegum=art Toa =t wifedt qereien

-~ .

S lUcdl dehd{odlal '1[C\°|U| AR h

e ?

(A) A

(B) Wal wilsq
(C) 3-¥ar
(D) dfaA




10.

11.

12.

Which

following is not correct with respect

statement among the

to National Digital Library of

India ?

(A) It is a project by Department of
Technology.

(B) It is a virtual repository of

learning resources with single

window search facility.

(C) Itis friendly to differently-abled

learners.

(D) It is being developed at Indian

Institute of Technology,

Kharagpur.

Convention on Ozone Depleting

Substances is also known as :

(A) Basel Convention

(B) Montreal Protocol

(C) Ramsar Convention

(D) Conference of Parties

Unit used to measure noise level is :
(A) Joule

(B) PPM

(C) Bit

(D) dB

10.

11.

12.
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adta fefSea U vueamEsyta
il HIv fauE O @ ?

(A) T He TR dFaM faummEn

Thod  3TTE.

(B) T feres! iy glawn sween @
Negfireh HE e STHTE el
.

(C) T Yo feeam ST EenT YgsTqul

oAl Id.

(D) =1 JereEr faehE R TR
e (STELAEA.), TR A
FOIE Ad TR,

3 HHT KLU TeTiforsi= gfive

(A) A 9RER

(B) Wifgaa Wi

(C) T AR

(D) fafay Sermen et ufteR

e Ao Tdes! HISTIaTHIS! JEietish]
HI0d Teheh o9 SIId 2

(A) Joule

(B) PPM

(C) Bit

(D) dB

[P.T.O.



13.

14.

15.

16.

Green India Mission was part of

the :
(A)
(B)
(®)
(D)

Millennium Development Goals
River Action Plan
Swatch Bharat Abhiyan

National Action Plan for climate
change

International Solar Alliance was
established to develop co-operation
in developing solar energy was
proposed by :

(A) Indian Prime Minister
(B) French President

(C) African Union

(D) European Union

Concentration of toxic chemicals
through food-chain result into :

(A) Accumulation
(B) Excretion

(C) Biomagnification
(D) Elimination

Technical and scientific education
was given in :

(A) Vedic system of education
(B) Pre-Vedic system of education
(C) Buddhist system of education

(D) Islamic system of education

13.

14.

15.

16.
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(A) Teos faeE 3fEs

(B) = faerma are
(C) = YRa A=

(D) ACERUTE Seaderel TS hdl
RISEIl

ARSI TR TR § UR 3 Tk
foergaet vt wEafad el 8 2

(A) ORAHE FHE

(B) WY USIEAY

(C) eAftheh i

(D) U= g

eI FHfor Bt ferordt e
........................... e RO 2
(A) F==

(B) IS

(C) o fomrism

(D) =g Rl

dir?lq') a_ ad“r:-ph ﬁ_l_%:l_u_l_ %_ ...............
JuTeHed fot S| B

(A) dfcew fram
(B) qa-afce ferarm
() Ffge faram
(D) g&Athe e




17.

18.

19.

20.

According to UGC list published the
state with the most universities is :

(A) Uttar Pradesh
(B) Maharashtra
(C) Tamil Nadu
(D) Rajasthan

For creation and development
of MOOC courses in different
disciplines MHRD has notified
........................... is one of the eight
national co-ordinators.

(A) Mumbai Vidyapeeth
(B) U.G.C.

(C) YCMOU

(D) IIT Mumbai

Most of the State Universities are
............................. 1n nature.

(A) Affiliating Universities
(B) Deemed Universities

(C) Self-financing Universities
(D) Private Universities

Which organization arranges
administrative course for principals ?

(A) HRD Ministry
(B) UGC

(C) NUEPA

(D) NCTE

17.

18.

19.

20.
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IS TG holed A-IER
I TG Hald S fagardis stRa.

(A) ITYW
(B) AR
(C) dIfHesTS,
(D) TSTEAH

fafay fogammeda MOOC widd
faerfaa SISt MHRD + 3116 T

TH HE AHA el ST

(A) g forgamdia
(B) facamdie o™ &M

(C) a9 WeNIe T fogamdie
(D) .. qolg

agarent T fagards @
el fagardie aed.

(A) TAfd
(B) offyHa

(C) wH-31d IR
(D) @Il

YIS TehTITeh 1 ehId ShIUTd STETTAT
ARSI X ?

(A) AFE HEEA HAE
(B) facamdie o™ &M

(C) U Negfores feeq o gemEA
forgamdts
(D) T fores foreror afiteg

[P.T.O.



21.

22.

The reflective level teaching is :

(A) teacher-centered and subject-
centered but not learner-

centered

(B) not teacher-centered but is
subject-centered and learner-

centered

(C) teacher-centered and not
subject-centered and learner-

centered

(D) neither teacher-centered nor
subject-centered but is learner-

centered

The adult learner is :

(A) peer-motivated

(B) self-motivated

(C) family-motivated

(D) society-motivated

21.
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fomett waUede ereamq

(A) Toegemengl enfor faorehgl 19a 9

regIfiengl .

[a)

(B) forersmand]

THd HE fasEengr i

AeTFITehsl 3T,

(C) Toegerendl 318d AT faoeng anfon

regIeften gl .

(A) Tereard-uia s
(B) =&ufE st

(C) Hga-URka e

(D) FHSIfd 3T

10
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23. Massive Open Online Courses | 23. WiiHee 3T SATeE ®HEH (MOOCs)
(MOOCS) are - W ............................. _Eﬁ_q..
(A) flexible and open form of self- (&) (Mass)
, , , sferd wad, @afas afo
directed, online learning e . .
AHQRId, Had SRl SHlcdle
designed for mass participation
ST
(B) flexible and open form of (B) T FeoTeRel (Mass) SEWIERET
teacher-directed, online srferd sad, aafas arfo
learning designed for mass Toreren-Fcelia, Jod e SiaEd
participation A
(C) flexible and open form of self- (C) e FHTEI (Mass) HEHTEIC!
directed, off-line learning aRfem ®dd, wafa® o
. L WY, g Weurs el
designed for mass participation
SRR
(D) flexible and open form of D) ¥ Aot (Mass) 5
teacher-directed, off-line aniferd ®aa, wafas snf
learning designed for mass fyrerw-fAd'efia, qaa w@wq=
participation AR AT
24. Modern teaching support system | 24. 3TAGH MYk FREAYD U
includes S e .a.l. g’l:ﬂa'?[ a?_h
(A) Smart Boards (A) T seq
(B) Green Boards (B) I Eﬁ@f‘{{
(C) Charts (C) T
(D) Maps (D) TSI
11 [P.T.O.



25.

26.

27.

Which of the following is not

applicable to the internal

assessment ?

(A)

Integration of teaching and

evaluation

(B) Testing of skills and abilities

(C) Periodic and continuous
(D) Use of only achievement tests

Dialogue method of discovering the

truth was given by :
(A) Plato

(B) Socrates

(C) Froebel

(D) Herbart

If one variable is measured on
nominal scale and other variable is
measured on interval scale, the

appropriate research method will

be :

(A) Experimental method
(B) Case-study method
(C) Cross-sectional method

(D) Correlation method

25.

26.

27.
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ST JEAHTIATS, Wefedeh! A @]
TSq ATer ?
(A) sggTed rfor gegamy ais
THCHIHLOT
(B) SRy Mo e Fr=t qurEoi
(C) gHI=Ifeia (periodic) TUT fRaR

(continuous)
(D) “heles HURA AT ST
RIRICI
(A) =&
(B) ish™
(C) hisie
(D) &

ST Tk 9 AT JUeR (nominal
scale) HIST S 3T8al 3101 g =
S IRIEMIEES (interval scale) HISTol ST

(D) HegeY Tgdl

12
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28. Which of the following is not a | 28. ETeteTdehl v FTedl TReed
characteristic of good hypothesis ? (hypothesis) Ifyree Er ?
(A) Testability (A) TqaTguierHal
(B) Objectivity (B) arqfTaa
(C) Complexity (®); W
(D) Conceptual clarity (D) FergErsear
29. If mean and median of a frequency | 29. SX TRATRAT fIaRome HeAw™  oATf0T
distribution are 20 and 22 e IhH 20 9 22 STHAA, W
respectively, then the mode of the o faaeome sgeren
distribution will be : Y.
A) 21 (A) 21
(B) 16 (B) 16
(C) 26 (C) 26
(D) 11 D) 11
30. Using someone else’s research | 30. T@-am= MR TE¥IH o 9 7 @l
without due acknowledgement is FIOEOY g oo TR,
called as : 5
(A) HidREe
(A) Copyright
(B) aremIEd
(B) Plagiarism
. (O EINE
(C) Publication
(D) Patent (D) A T
13 [P.T.O.



Directions :

Answer Question Nos. 31 to 35
based on either the English

passage or the Marathi passage :

A sanctuary may be defined as a
place where Man is passive and the
rest of Nature active. Till quite
recently, let me tell you, Nature had
her own sanctuaries, where man
either did not go at all or only as
a tool-using animal in compara-
tively small numbers. But now, in
this machinery age, there is no
place left where man cannot go
with overwhelming forces at his
command. He can strangle to death
all the nobler wildlife in the world
to-day. To-morrow he certainly will
have done so, unless he exercises due
foresight and self-control in the mean

time.

There is not the slightest doubt that
birds and mammals are now being
killed off much faster than they can
breed. And it is always the largest
and noblest forms of life that suffer
most. The whales and elephants,

lions and eagles, go. The rats and

JUN -00119/1—D
gl ¢

U9 ek 31 d 35 ¥ Yo faoremn
3arATey ATeMRA IATed. AT
fopar ATSHdieT Sar=aTa’iel Ygiet 3wk
T o
IRATF AU T fafire AR oTR.
T 99 B9R et WA o f9g
A 3. IS Thl JUTaEd,
fTaReRd, STeRmaEd WRdE |
SR SR el TR Tead AR
W URAE AOE SR 3Me. S
IO AT w1 AR, B B YA AE

T YA STET JAiA TUNTE § e

Hle TUSA ST e, WUAE Al
TSI TehTed a1 Jeiel foamadt
‘fafagaa Tehar’ o =won foeft. 3

A ch HHI\TII‘C{'\I LAl rdqz\"l {ed, H¥ch
ST 3T&d gamad STfur 9o T
FHAE! SUE Bogeed &Stadl Ad. GH-Al
YT WIS W R § HEE TH T

14



flies, and all mean parasites, remain.
This is inevitable in certain cases.
But it is wanton killing off that I
am speaking of to-night. Civilized
man begins by destroying the very
forms of wildlife he learns to
appreciate most when he becomes
still more civilized. The obvious
remedy is to begin conservation at
an earlier stage, when it is easier
and better in every way, by
enforcing laws for close seasons,
game preserves, the selective
protection of certain species, and

sanctuaries.

I have just defined a sanctuary as
a place where man is passive and
the rest of Nature active. But this
general definition is too absolute for
any special case. The mere fact that
man has to protect a sanctuary does
away with his purely passive
attitude. Then, he can be beneficially
active by destroying pests and
parasites, like bot-flies or mosquitoes,
and by finding antidotes for diseases
like the epidemic which periodically
kills off the rabbits and thus starves

many of the carnivores to death.
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TeBd. 3 TSI W@Ed e 8. 9

WEN T gH-Toe 99 9eqd gl

ATTA AMBYY Tkt BIA.  STOr=AT
HIHRWAT G81 ST ST TEd -
el greel @i
T 9 930 Hdcl 3. =l S

3T AT HHSTH

oA

gy WrRNad o

EXURILSERCIS |

MU HHS AAfghRgsl TaR el
AR, T TRREE TEEdl HEH S
TE T i =e@, a1 SgeR™
3T HHSTH "=l feetedt . stfor
B W A QSIS auidedt 3
JreAred A . S AT AT
A FOIE I He<ard  qie
IR, 3Tcd uRfed ofor Wesl Sucsd

ST Ao WEAA O Yehe B
qod gd TEhdd S ST IRy

AT, I8 GHSTN dgacn  fedi-

15
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31.

32.

in where

has

intervention to be beneficial, the less

But,

experiment

except cases

proved his

he upsets the balance of Nature the
better, even when he tries to be an

earthly Providence.

In the passage, it is implied by the
author that his first definition of a

‘Sanctuary’ is :

(A) somewhat idealistic

(B) quite wrong

(C) completely unacceptable

(D) difficult to defend

The author seems to be much
concerned about the active role of
man in protection of animals

because :

(A) he is afraid of the fact that it
would lead to the imbalance of

the ecological system

(B) he is sure that it is beneficial

for the mankind itself

(C) he thinks that

passiveness is not a sign of his

man’s

being alive

(D) he is more idealistic

31.

32.
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SR WERATEl wAgdl sy avid

TEHA= AR d BRHIS WiEd

3R, SEHIAMET R 1 <1 H&hdld

o 8, N TSR SThaHT A

FBUE I AR

IR H0E SRR 37E, SR

(A) =T FAGHTSITSR]

(B) =T ToTcHRdT

(C) = FoeTied

(D) = FfgHHIHR

IR FHSeeRe & afaequl oTg;
qult <t STaTa JoT=a Yceh HHISTSCShTE
T =R T U TR

(A) 990 faum sl
(B) &Yl fae I
(C) Yeried oo, WU e

(D) gaEtd I, Y e

16
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33. The above passage can be : 33. YRd ¥ &Y Th U< Td; SR :
(A) a part of an article in a scientific . .
journal (A) gHugmET STEToT
(B) an argument in front of the (B) GmIfST® STEHK
court of law
(C) a part of a speech delivered to (C) STSIdiet T
an educated audience
.. (D) IfoIeh  FHA
(D) an extract of a scientific report
34. The author intends to convey the | 34 S FETEr ST Jefersh  wrea
message that : 1 S ST WA 3TgH; N S TR
(A) Man is quite a clever animal AT U T 9TaAl ey
(B) If the man failed to maintain I
the ecological balance, it will be
harmful in the long-run (A) W faam o
(C) Man wishes to destroy the wild- .
life as it is harmful for his (B) q{lﬁ [REERERER
existence
(C) gaid sReR, U
(D) The balanced ecosystem will H\Bﬁ S
decrease the importance of man (D) qatd 9, I IR
in the overall affairs of the
universe 35. SEHATAT AfYHRKI HILAH HIVA ?
35. The tone of the author can be best A
described as being : (&) wHT
(A) descriptive (B) w19
(B) humorous ©) e
(C) narrative
(D) sarcastic (D) e
36. According to Dr. Deval, communi- | 36. el Tad T 'ﬂlﬁ, TYTUT U
cation means : ‘s oo
(A) U HMHIFh R
(A) Sharing of ideas B) - - A
did HH[[Heh[en Y]
(B) Sharing of experiences 1
(C) Perception (©) o
(D) Sharing of emotions (D) A FTHIHER [T
17 [P.T.O.



37.

38.

39.

40.

To select media to teach a lesson to
class, teacher should consider
objectives of the lesson, age group
of students, knowledge about media
to be used and :

(A) teaching methods
(B) teaching aids

(C) mass media

(D) evaluation system

Traffic signals are example of
.................... communication.
mass

non-verbal

verbal

(D) one to many

Customers coming to mall and
sharing some common interest and
group based activities are steadily
increasing. This is the example of

(A) open
(B) closed
(C) peer to peer
(D) hierarchical

Sometimes mass media misleads
society because receivers are :

(A)
(B)
(®)
(D)

heterogenous
in large numbers
illiterate

critical

317.

38.

39.

40.

JUN - 00119/I—D

a3 Rrerfavaradt mermrn fas
AT TTeTeRe drerh 3fese, faganet=n

FINTE, ATIEAT SO ATeaHTiasa
IE I LSRR
Tifgs.

(A) TEFTITIGl

(B) Srerforer @mem

(C) g "=

(D) HoIHTAT &

Iftper faerg ®
GO 3S1EL0 2.
(A) 9

(B) 3mIfsceh

(C) vmfsgeh

(D) UehTehgA-3Th

TETE ianed fireEes Jard o STae
graEs fedrear Sei=l THAHTHED

QETUTEETU] A o < R il
feeroy gfgmd 3@ @, ©

TR 38 B
(A) oK
(B) &g
(C) HEshRI-Heehl

(D) gfierg
FRI HHE HIEAH HHSTA qehi=

o S W VD PPPPPPPN
NIl ATadrd. ShiLol I ek
HdId

(A) =gt (heterogenous)
(B) &

(C) frer

(D) Tafwcdeh
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41.

42.

In a game with two players X and
Y and given n (= 4) number of circles
drawn on a plane paper, alternately
each one of X and Y is suppose to
join two different circles which were
not already joined by a line. The
winner is one who joins the last
available pair of circles and the
game ends. If X starts the game
then :

(A) X always wins
(B) Y always wins
(C) X wins whenever n is odd

(D) Y wins whenever n is a power
of 2

In a classroom there are ten chairs
in a row cq, Cg, Cg, «ueeuun. , €19 Which
are labelled by numbers 1, 2, 3,
.......... , 10 arbitrarily but satisfying
the condition that %; < kj whenever
I < j, where kq, k9, kg,
are the labels given to the chairs
C1> €95 Cgy weeeeeens , €19 respectively.
Then which of the following is
true ?

(A) For some i, k; = i

(B) There are two i and j such that
k.

l

(C) All labels must be distinct

:iandkj:j

(D) For every i, k; = i

41.

42.

JUN -00119/I—-D
T Weed X 9 Y § 39 WIS 3R
9 THl HEER 1 (> 4) 9ded L@
3Med; X A0 Y § THMAW THH STEY

q Seciedl T gl TMEEH Siredrd.

S SEeHt agessitel siredl i fSiehal &
Tes YAl SR X 7 Bl geard shall,
qal

(A) X et fSehom
(B) Y 7&H SR
(C) n fam s@a R X fSHumR

(D) n & T AT Udieh W&

A WY fSihom
U I I AT q@l Sl
€15 Co, C3, ....... , Clo Gl 1, 2, 3, ...... , 10

Ak < kj SR < j & 3T Teaia. W
TretE FR faue @@ e ?
(A) Rl G, by = i

(B) S99 j W& by =i Tk =
(C) |d i AT 38

(D) Wk i WS, k; = i
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43.

44.

There are flowers in a basket which
are to be distributed to five persons
standing in a row. The second person
received half of the number of
flowers given to the first person, the
third person received half of the
number of flowers received to the
second person; the fourth person
received half of the number of
flowers received to the third person
and the fifth person received half of
the number of flowers received to the
fourth person. If the fifth person
received only one flower and there
is no flower remaining in the basket,
how many flowers were their in the
basket ?

(A) 31
(B) 32
(C) 16
(D) 15

If 6 men or 8 children complete one
task in 24 days, then how many days
will be required to complete the task
for 7 men and 12 children ?

(A) 12
(B) 9
(C) 10
(D) 16

43.

44.

JUN - 00119/I—D

TR 2aeid TEeIel §a Hos TRId 391

ST e SR el JHT0] area.

TE I e e A e,
ety fae=amian feft |we 9 e
SRITE e sFRitaen fred wer feeft.

o o ~
S OISl Hadld Teh ol [Hooled, SRS

JqeAldiedd THY el bt ?
(A) 31
(B) 32

(C) 16

(D) 15

T &M 6 Ie9 fohar 8 ol 24 fawm
i A T dF w7 GEY ST 12

o oA o~ . ~
ol e ferdt foaema qof e ?

(A) 12
B) 9
(C) 10

(D) 16
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45.

46.

47.

The area of a parallelogram is
128 em? and its altitude is twice the
corresponding base. What is the
length of the base ?

(A) 6 cm
(B) 7 cm
(C) 12 cm
(D) 8 cm

Arrange the following terms in a
meaningful-logical order indicating
the correct sequence :

(1)
(2)
3)
(4)
(%)
(A)
(B)

Grass

Curd

Milk

Cow

Butter
1—4—3—2—5
4—3—2—1-5
() 5—2—3—4—1
D) 4—-1—-3—2-5

If the term HJLN is converted into
ILOR, then by the same principle

what could be the correct alternative
for the term DFHJ ?

(A) FHJN
(B) EHKN
(C) EGIL
(D) FHJN

45.

46.

47.

JUN - 00119/1—D

TehT GHIALS SN &%e3 128 cm?
3T o = I GEda e gue
MG, W N U= aiet fohdt 2

(A) 6 cm
(B) 7 cm
(C) 12 cm
(D) 8 cm

Trelt foeied Hehedq 1 s1efqul 9 difsheh
JEdH AISA IFF A RV O T

(1)
(2)
3)
(4)
6))
(A)
(B)
€
(D)

ad

Gl

Ty

g

wroft
1—4—3—2—5
4—3—2—1—5
5—2—3—4—1
4—1—3—2—5

SR HJLN I™ ®a® ILOR 3™ @«
A, R A= d@= DFHJ IrEr3! shiordn
T TR A ?

(A) FHIN
(B) EHKN
(C) EGIL
(D) FHJN
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48.

49.

‘Parrots have green colour.” This

statement is a/an :
(A) Perception
(B) Inference

(C) Comparison
(D) Implication

Which of the following is/are the
valid conclusions based on the

statements given below ?
Statement I :

All donkeys are hardworking.
Statement II :

Some hardworking animals are

human beings.

Conclusion 1 :

Some donkeys are hardworking.
Conclusion 2 :

Some donkeys are human beings.
(A) 1 only

(B) 2 only

(C) 1 and 2 both

(D) Neither 1 nor 2

49.

JUN - 00119/I—D

(A) ga&

(B) STHH

(C) 3qHH

(D) sterfosht

et feere fagmeR eaia s

freeps 3faa smRd ?

faam= I :

e TMed HIe 3.
faam 11 -

HE HRIG WU AFE SR
frewel 1 :

HEl TMed Heele e

frreeret 2

FTEl TMed A 3ed.
(A) 1 ek

(B) 2 ®x

(C) 1 amftr 2 <=
(D) 1 @I 2 U A
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50. Which of the following diagrams

shows the correct relationship

among :

Boys, Students, Girls

(A)

(B)

()

(D)

QCQ%

50. ®ITATATRT  HI0Td

JUN - 00119/1—D

ATHAT A

Ghou e Hay se esifad ?

e, fereneff, et

(A)

(B)

(®)

(D)

QQQ@
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ROUGH WORK
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